Teach Nevada Scholarship Phase II

Anabel Sanchez, Education Programs Professional Office of Educator Development, Licensure and Family Engagement | EDLiFE

Presentation to the State Board of Education November 3, 2022



Strategic Improvement Plan Alignment

Goal 2:

All students have access to effective educators

Input: Recruit qualified candidates for Nevadaapproved educator preparation programs

Output: Growth and expansion of TNVS

Outcome: Increase the number of students enrolling in educator preparation programs



Available Award Funds

Fiscal Year 2022 Carryover Funds
Fiscal year 2023 Allocation

\$2,338,111 \$ 288,000*

Total funds for Awards

\$2,626,111

*CCSD did not accept fall 2022 applications for their ARL program and did not use these Awards.



Cohort 2023 Phase II Table 1

Provider	Program	Awards Requested	Awards Recommended	Amount per Scholarship	Requested Total	Recommended Total
Clark County School District	ARL	24	23	\$18,000	\$432,000	\$414,000
Great Basin College	ARL	15	14	\$7,500	\$112,500	\$105,000
Great Basin College	TRAD	50	47	\$18,000	\$900,000	\$846,000
University of Nevada, Las Vegas	ARL & TRAD	129	122	\$9,000	\$1,161,000	\$1,098,000
University of Nevada, Reno	ARL	4	4	\$6,000	\$24,000	\$24,000
University of Nevada, Reno	TRAD	6	6	\$9,000	\$54,000	\$54,000
Washoe County School District	ARL	4	4	\$18,000	\$72,000	\$72,000
Totals		232	220		\$2,755,500	\$2,613,000
Reduce all awards by 5.2%						



ARL – Alternative Route to Licensure TRAD – Traditional Pathway to Licensure

Cohort 2023 Phase II Table 2

Provider	Program	Awards Requested	Awards Recommended	Amount per Scholarship	Requested Total	Recommended Total
Clark County School District	ARL	24	12	\$18,000	\$432,000	\$216,000
,				120,000	,,	,==0,000
Great Basin College	ARL	15	15	\$7,500	\$112,500	\$112,500
Great Basin College	TRAD	50	50	\$18,000	\$900,000	\$900,000
University of Nevada, Las Vegas	ARL & TRAD	129	129	\$9,000	\$1,161,000	\$1,161,000
University of Nevada, Reno	ARL	4	4	\$6,000	\$24,000	\$24,000
University of Nevada, Reno	TRAD	6	6	\$9,000	\$54,000	\$54,000
Washoe County School District	ARL	4	4	\$18,000	\$72,000	\$72,000
Totals		232	220		\$2,755,500	\$2,539,500
Reduce CCSD Award by 50%						



ARL – Alternative Route to Licensure TRAD – Traditional Pathway to Licensure

Balances

Available Funds \$2,626,111

Recommended Awards 1 \$2,613,000

Difference \$ 13,111

Recommended Awards 2 \$2,539,000 Difference \$ 87,111



Possible Motions

- State Board move to approve Teach Nevada Scholarship Awards per the Cohort 2023 Phase II Table 1
- State Board move to approve Teach Nevada Scholarship Awards per the Cohort 2023 Phase II Table 2



Thank You

Questions?

Anabel Sanchez, Education Programs Professional
Office of Educator Development, Licensure and Family
Engagement | EDLiFE

edprep@doe.nv.gov

